108 cm?

[22]

108 x 8 = 864( cm?)

864 cm?

b

()
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@ 7I2 5cm, A2 5cem, =°] 5em Q) A-SHA
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@ 7}2 9cm, A2 4cm, =°] 3cm
@7]-1?’5 5.5cm, A2 6cm, 0] 4cm Q) ASHA
@ 712 4cm, A2 4cm, =0] 6cm @l Z-SHA

® 7F2 12cm, A2 3cm, 0] 2.5cm Q 2-SHA

~&B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5x6x4=132(cm?)
@ 4x4x6=96(cm?)
® 12x3x 2.5 =90(cm?)




g A2 o] Zol7t 16 em?l FKHA o] ZHolE Tl L.

(A=A Y] AHol) = (*F ¥ Hol)x6
(16 x 16) x 6 = 1536( cm?)




A o] 727} 2m, A27F 5me] 1
T w® 4y7R
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>
> HE 32m?

I, #=°] 3m 20cmQl 25 HA 9]

3m 20cm = 3.2mo| B2

HgHA o] Hull 2 x 5% 3.2 = 32(m?)
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o1& 51412,

_8cm..

\
8cm
/I
~8cm~
<h
@ 240 cm? @ 300 cm?
@ 420 cm? 3 )480 cm?

@ 360 cm?

HAo] 24

B
(F1e1 =
(& WEP-‘*) (&)
(BHlol)= (8x8)x 2+
=128 4 352
— 480( cm?)




